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AP Calculus — How to Navigate FRQs

Particle Motion

Name: KQM
)

When | am asked to I’'m going to use... Given the position X C b) - x(a)

find/do this... (question | (strategy/equation/formula) function, find the average |-— ‘-fO

being asked) velocity = -

Given the position ‘/5-_,’\_‘ — ‘."'_'_,\ Given. the Yelocity b;.‘ o

function, find the velocity AN, ot S function, find the average Ly () 4+

function. velocity J

Given the position \ N e

function, find the QLT )= AN Y= £+ ) _ -0

acceleration function. Glven the velocity v ( ‘,)) -v(o.)

Given the position N (,\L> =0 4 T () function, .ﬁnd the average ——

function, find the total S 3 bl : ¥ T

P = j‘,-: T ‘Cf& 208 leen' the ?cceleratlon °n o

\ g < \\ alue o functlon,_fmd the average J o (4) »/} i.
. y clharae In acceleration
\ YL, N —
pan:{vr\m/ dd> Lo
Given the velocity b , . p . — i —
function, find the total \g\ ]V (‘(’\)\ dt Vilhen do.es th.e particle vi4)=O ownd v+ }
distance traveled )-8 change direction? channpt =taes
Given the position , 7 Find position of a particle - Y b
function, find the X( \Y’> - X 0') given velocity and an ; ) A
displalcement of the initial position value X( k9> = Xla \? v {/ Yd=
article

given the velocity b | -
function, find the \g v (< B(jlf Find the positionofthe |/ (41} = O
displacement of the particle at the time it N X(A)=
particle L= changes direction = A )

When is the particle :'r Qp(J up v (-L) ,0 (J) sa /j",g,n L Given the position

speeding up/slowin . ) ; -

o B IE ey Jown V()5 (8) Jif g | | Cnctomatuhattimers | X ()= x(a) _ D
When is the particle v(t) ,{« OS =% ¥ Zg\\,\ir D) J e to the instantaneous l,_&

moving to‘/tfli‘!lift(/)right? J Vo —> | o L : velocity?

When is the particle at
rest?
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“Function Behavior

When | am asked to find/do
this... (question being asked)

1 will justify with this reason...
(precise & concise)

And ey Test

| Given f(x), find the relative extrema

ij(@: O

rel max. — £i(x) aoes s 4o oo
. >£1(x) ﬁ LPO /\IL\)

i) »0 AT min

l!(/)

i

W )=0 XQ_’_’—%

ce 1 £') naq

&< > [vel sin — ¢ ) goes neq $o po< £'(A)<0 ¥V max
leen f(x), fmd the absolute extrema »
(\\ ®) N EL\ ) (yg U:‘ 3hp(+/ow’ st \/a[u,e O—£ -Q[K)
e e Qn&r_'\»...
¥ end X XVannS
Given f(x), find where the function is £ ] -)
increasing/decreasing Tne — (< OOS
'p I()O =0 ‘?"i"/"() dec — 4 "{’:»:} NO.Q
W= aihtn PN 5
Given f(x), find where the function .
has a point of inflection ( ) YOTL where C vaca_u\Jni CL\QH%QS
£w _K;l' X )
£'w=0 =
Given f(x), determine lntervals of A~ , "
concave up/concave down cer ¥ CK) POS

Determine if a linear approximation
is an overestimate or underestimate

£ T

belowd CC ¥ ahove

Find a horizontal/vertical tangent

line of f(x)

Hor . £'0D=0 Y =

Vet wheve £ 1S undoBuod  X=4
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